EARAROBEEIERT — 2 N— IBISH —F

20195 7H 180 (K) 7EIS%#ASH

REEEEX XY ESRE R
[AE4£] 1% :270,000 ™ ~ 23#%&:63,000”  33%&:27,000” . 437&:19,000 .~ 5 7&:14,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o= 3 | ALK 1:29.3 1-1-1-1 2| - 16 |IUB3LE (%)
1111 |~¥YaTAo A e 54.0 (=) % 8 (5_26) (A) Eﬁﬁ(tg
L:¥rsn7aS B:Xb=U—-FUrY AR S
S PR A :29. === . — RERERR (S5HA
olglg | XATETY it 3 i (12219/28) 2-2-2-2 | 39.5 4 (4_4; il A
LA Lk—b B:HIFaT) NESEE B85
N o ¢ s — 1ERERA : —~3-4- - BB/ (51
N AN AR ZAN s A 1'(3‘8'7 6343 40 1 ?_g /J%\Eatﬂj'é( :
LihiNZ— B:7UIFA Nipse]
= s ft 3 | BAEE 1:30.7 4-5-3-3 | 40.2| — 2 446 | DIEE=AR (5H4)
4178 ILAH NI TT 5?.0 (74%) -2) HILBE :
Rixivh/xwF BIUFATUT BRA%IS
- P . 76 _ HOBE (1)
5 4 SA xR R 4 3 o an 1.(310).9 8-7-6-5 | 39.1 7 <4+156) S e &
R:TF7oTVRX BAFIAIT1F—% INRYG
o= KIRET : -9-8— = KBEK (5H3)
5 3| INFroy o it 3 s 1.(331).6 9-9-8-8 | 39.2 5 (3_819) e A
LANT I BiNYSLH J—HrIr—L
. g . W _ EEM (1)
718l10l b—F> /7= G =4S b MR ° igf Hisse
LE—E—HILEL BHIxauynF Bk Bk
R S KR 5 : —6-7- - HOEEZ (%14)
alsls|vr1oexny b 4 3 A 1.(332).9 5-6-7-7 | 41.3 8 <4+228) s A
R:FHAVYTTRE B v 8—3y b +E EX
. i jt 3 | Bt 1:33.4 7-8-9-9 |41.0| — 10 | 469 |&BEIRA (5£42)
9 gl F><7 54.0 @ 1/2) 2 ") k-2
A=Y 2f x4 B:7O07722X BORMS
N KBt :35. -10-10- . — BEEIER (554A)
10 2 d—tbA N4 — 4 3 56.0% (1&::5% 10-10-10-10| 42.2 9 :179) - A
LXK bOT BEYIRT A it e
® 1—F—@EBIERL
1T=7r= 1,9,10,8,5,7,6,4,3,2
20—F— 1,9,7,10,8,5,4,6,3,2
Ja=5= 1,9,8,7,10,4,5,3,6,2
43—+ — 1,9,(7,8),4,10,5,3,6,2
[ /N
B 1 360M 714K 1-9 230M e E 1-8 770M JEE 1-7-9 500M4
B B 1 1204 1-7 150H B = 1-9 730M JEE 1-9-7 3,290
9 120 7-9 290M B H 1-9 1,440
7 1009

ABICOVWTRDTEEERROODE. TR LIV,




